11/30/2020 https://www.te.com/commerce/pcnws/PCNSecurityController?pcndate=27-NOV-20&pcnnbr=E-20-016724&custkeyid=204193&PAGENA...

- TE Product Change Notification

- i Current Date: 29-Nov-2020

TE Connectivity
Product Change Notification: E-20-016724 PCN Date: 27-NOV-20
Customer: TTI, Inc. ( 1305175) Location: Maisach-gernlinden Agreement: TTI001

TE would like to inform you of the following change(s) to the listed TE Connectivity Product. In case of any further questions about this change(s), please contact your TE
Connectivity Sales Engineer. Affected part, drawing and/or specification numbers are listed on the attached sheet(s).

General Product Description:
C-1103032 HD.64.5ti.C, C-1103033 HD.64.Bu.C, C-1103112 HN.D.64.5ti.C, C-1103113 HN.D.64.Bu.C

Description of Changes

Dear Customer, please be informed that we adjusted our internal drawings documentation and added mark B and C for description of the pin column. The descriptions mark B
and C there are currently visible on the drawings approved by you in the last PCN - E-20-007704.This will not affect any functionality of our products and this is only internal
drawings clarification. Thank you for understanding.

Other attachments:

C-1103032_D1

C-1103033_D1

C-1103112_C1

C-1103113_C1

Reason for Changes:

Document Clarification. Internal drawings clarification.
Estimated Dates:
Last Order Date (Obsolete Parts Only): First Date To Ship (Changed Parts Only):

Last Ship Date (Obsolete Parts Only): Last Date for Mixed Shipments: (Changed Parts Only):
No Mixed Shipments

The documents listed below are being modified. Related parts that are not explicitly listed on this PCN are not being modified or discontinued as per the PCN. The Last Order
Date, Last Ship Date, First Date to Ship Changed Parts and last date for Mixed Shipments apply only to parts explicitly listed on this PCN.

Note: This PCN contains only document changes, these changes do not affect the form, fit or function of the parts referenced.

Customer Drawing(s) Being Modified:

Drawing Number|Related Part Number|Customer Part Number|Current RevisionNew Revision
1103112 2-1103112-3 TYC2-1103112-3 C
1103113 2-1103113-3 TYC2-1103113-3 C

https://www.te.com/commerce/pcnws/PCNSecurityController?pcndate=27-NOV-20&pcnnbr=E-20-016724&custkeyid=204193&PAGENAME=CUSTFO... 1/1


https://www.te.com/commerce/pcnws/fetchAttachment/spcn01/pcnfiles01/f8/ff/f8ffl0wqefd72edr5tw3rse24-mmmfpzc4zeqjnjq_c.0yr?fileName=C-1103032_D1pdf.pdf
https://www.te.com/commerce/pcnws/fetchAttachment/spcn01/pcnfiles01/fc/17/fc170r_wyn0crnxthykdjp9i_fit3qfgc-xnip5rbqj.dqw?fileName=C-1103033_D1pdf.pdf
https://www.te.com/commerce/pcnws/fetchAttachment/spcn01/pcnfiles01/82/8b/828bqjv3xe94o8pkr8cnavnscdllhkedk1c7xpylfso.zw8?fileName=C-1103112_C1pdf.pdf
https://www.te.com/commerce/pcnws/fetchAttachment/spcn01/pcnfiles01/b6/45/b645a9r-fxa5mw9t4l2hbbet8sdogwlpthpw1xohpfq.cg7?fileName=C-1103113_C1pdf.pdf
http://www.te.com/commerce/DocumentDelivery/DDEController?Action=ecatdoccustselcrit&Doc=1103112
http://www.te.com/commerce/DocumentDelivery/DDEController?Action=ecatdoccustselcrit&Doc=1103113

THTS DRAWING IS UNPUBLISHED RELEASED FOR PUBLICATION

(©) COPYRIGHT copyright_date- ALL RIGHTS RESERVED.

110

33

o
t

5
D

=

3
L
5
8
i

t
o
A

M4 SCREW RECOMMENDED
TIGHTENING TORQUE |.2Nm
M4RL, #e#mgEHE ] 2Nm

i

HN.D .64 .Bu.C
2-1103113-3
10A 250V 4KV 3

© W@

=7E |

34

27

i

4X M3 SCREW
RECOMMENDED TIGHTENING TORQUE 0.5Nm
4X M3 g%, #59%0£0 . SNm

EB
|
[

20
|
|
|
|
|
|
|
|

I I
\
|
|
|
|
|
\
|
|
T

36

PANEL CUT FOR INSERTS FOR USE
WITHOUT HOODS/ HOUSINGS

REVISIONS

DESCRIPTION

DATE WY

B ECR-20-005011

06APR2020 | QY JB

C ECR-20-007704

03JUN2020 | QY JB

Cl1 ECR-20-016724

25N0v2020 | QY JB

NOTES:

I TECHNICAL CHARACTERISTICS:
INSULATION MATERIAL: PC
RATED VOLTAGE: 250V
RATED CURRENT: [0A
INSULATION RESISTANCE:
RATED IMPULSE VOLTAGE:
POLLUTION DEGREE: 3
MATING CYCLES: 500 CYCLES |
TEMPERATURE RANGE: -40~+125C
WIRE RANGE: 0. 14mm2~2.5mm2 (AWG26-AWG!4)

2.CONTACT NEED TO BE ORDERED SEPARATELY

>=400MCY
4KV

| kK
#gmn . PC
BmERE: 250V
wEwA: | 0A
gl >=400M0)
BAHBE: 4KV
ARER 3
whA: 500 %
BAEE: -40~+125°C

#EEE: 0. | 4mm2~2. 5mm2 (AWG26-AWG | 4)

2. HIRMELHITM.

2-1103113-3

HD-064 FEMALE
HN.D.64.Bu.C ‘HD*O64 e, FHes(HTS)

INSERT FOR MACHINED CONTACT TYPE

PART NUMBER
# 7

PART DESCRIPTION
o

THIS DRAWING [S A CONTROLLED DOCUMENT. |°"

1

9JAN2020
NG YU % 1EE:H,TE;

DIMENSIONS,
mm

&=

c
A

HK
JﬁN BREDO!

TE Connectivity

PV 09 JAN2020
MARC [N KOMAR

PRODUCT SPEC

108-74002

APPLICATION SPEC

NANE

9JAN2020
HN.D.64.Bu.C

CAGE CODE | DRAWING O

114-74000 S

WATER AL

NGILE
FINISH

Veion N A?

00779(C=1103113

RESTRICTED T0

" [CUSTOMER DRAWING

|5CAL[

2]

<7F1 ‘R[vc1

1471-9 (3/13)




4 3 2 1
THIS DRAWING IS UNPUBLISHED RELEASED FOR PUBLICATION \ REVISIONS
(© corvmiGT copy ighi_dare- AL TTGHTS RESERVED. J T SESCRTPTTON S R T
B | ECR-20-005011 06aR2020 | QY | JB
C | EcrR-20-007704 om0 | QY | JB
110 C1 | ECR-20-016724 2sm0v020 | OY | JB
HJ ] L 7
® ® ® ® ® ® ® NOTES:
— I, TECHNICAL CHARACTERISTICS:
o H INSULAT ION MATERIAL: PC
L RATED VOLTAGE: 250V
¥ Y v Y/ Y Y Y RATED CURRENT: 10A
2 INSULAT ION RESISTANCE: >=400MQ)
& & & & & F 3 o o b RATED IMPULSE VOLTAGE: 4KV
L= Pl POLLUTION DEGREE:
MATING CYCLES: 500 CYCLES
TEMPERATURE RANGE: -40~+125°C
WIRE RANGE: 0. 14mm2~2. 5mm2 (AWG26-AWGI4)
2.CONTACT NEED TO BE ORDERED SEPARATELY.
M4 SCREW RECOMMENDED
TIGHTENING TORQUE A
M4, #%4E 0% | 2Nm I sksN
gith: PC
- HRwE: 250V
== HN.D .64 .St .C L sk | 0A
2-1103112-3 Y wgeB: >=400MO)
10A 250V LKV 3 o HARE: 4KV
Z FRER. 3
® TN\ @ o BAKS 500 %
) BERE: -40~+125°C
%kl 0. 14mm2~2.5mm2 (AWG26-AWG|4)
2. RTIRERMITH
4X M3 SCREW
RECOMMENDED TIGHTENING TORQUE 0.5Nm
4X M3 ## #EeEng0 . 5Nm
7 = £ © & - 8 © o 9 o o~ o o~
g /_N__W | iy [ — " Lh
~ - E b @ @ >
>/ N4 4 Aosz
® Y ®
~ >_ § §
™ ONWANNZNWAN7a R) @
o © -
7N vol
ﬁc A\ A\ A\ S
| —0 — —L D
[\ 2 o E O B 2 8 v ® 49 o v &~ w N
104 1
| 104 |
M3 THREAD HOLE ‘
| &y
|
- _ ; HD-064 MALE INSERT FOR MACHINED CONTACT TYPE
o 77777777l7777777777 - o 27110311273 JHN.D.64.547.C ‘HD—O@A e, #lEm (HTS)
N ‘ N PART NUMBER PART DESCRIPTION
- B 5 % #
! THIS DRAWING [S A CONTROLLED DOCUMENT. |™* §JAN2020
| i plals oy %EJANZOZO =TE TE Connectivity
97 TR, e A ot
‘ o ‘ mm one s MDU@TEPE@R IN HN.D.64.St1.C
yhe 108-74002
| S
PANFI CUT FOR INSFRTS FOR USF 1 PLC +- ~ SIZE | CAGE CODE |DRAWING NO RESTRICTED 10
WITHOUT HOOD HOUS I NG NGLE. + 114-74000
10UT_HO0DS/HOUS RRTERTAL e VEiGn - APbo779/C=1103112
) ~ [cusTomeR orawING [ o = g

1471-9 (3/13)




4 3 2 1
THIS DRAWING IS UNPUBLISHED RELEASED FOR PUBLICATION 00779 \ REVISIONS
© corvmisnrzne oy - AL RIGHTS RESERVED. | T SESCRTPTION L N
¢ | Ecr-20-005011 0sAPR2020 | QY | UB
ECR-20-007704 3020 | or | JB
DI | ECR-20-016724 2sn0v2020 | OF | JB
\‘ o o =3 i N in) i Cy ,‘D
Was VsV, VasWanWasWan\VaWan V)
o Y ANV ASYASYASPASY, NOTES:
™ | TECHNICAL CHARACTERISTICS:
= & & = & & INSULATION MATERIAL: PC
r N RATED VOLTAGE: 250V
lo b £ & & F & o< L RATED CURRENT: [|0A
d \§ INSULATION RESISTANCE: >=400MQ)
RATED IMPULSE VOLTAGE: 4KV
POLLUTION DEGREE: 3
M4 SCREW RECOMMENDED 110 MATING CYCLES: 500 CYCLES
TIGHTENING TORQUE 1 .2Nm TEMPERATURE RANGE: -40~+125C
M4g4  #EaEHE] . 2Nm WIRE RANGE: 0. 14mm2~2.5mm2 (AWG26-AWGI4)
2.CONTACT NEED TO BE ORDERED SEPARATELY.
AR
- HD .64 .Bu.C | . #ASH
) 2-1103033-3 i PO
© 10A 250V LKV 3 Eizi; fggv
Py :
o © ™G manl: >=400MQ)
2 HopdE : 4KV
e %H‘ FRER: 3
o~ wgAs: 500 %
] BAEE: -40~+1257C
#4EE: 0. 14mm2~2 . 5mm2 (AWG26-AWG | 4)
2. HTRERRITH.
4X M3 SCREW
RECOMMENDED TIGHTENING TORQUE 0.5Nm
4X M3 8% #%9EHE0 . SNm
L @7
-
~ fan) N YasViar)
) i AV v
A A Al A ~
‘ 104 ‘
T 1
| 104 |
M3 THREAD HOLE ‘
|
| Jﬁ
I
HD-064 FEMALE INSERT FOR STAMPED CONTACT TYPE
e ,7,7,7,7l7,7,7,7,,, N £1103033-3 ) HD.B4.Bu.C ‘HDfOM 8, #RA2(HTS)
‘ PART NUMBER PART DESCRIPTION
| % M E # @
THIS DRAWING [S A CONTROLLED DOCUMENT. |™* §JAN2020
| TP Sl ETE v
| 81 1 B e n VP AN [
mm MARCIN KOMAR HD.64.Bu.C
112 0P 4 PRODUCT SPEC
‘ VR E 108-74002
Sl =
PANEL CUT FOR INSERTS FOR USE 4 PLC BN 114-74000 SIZE | CAGE CODE | DRAWING NO RESTRICTED 10
WiTHOUT Fiﬁ[)t HOUSING FRTERTA e —Tveem - A2bo779(C=1103033 .
- - [CUSTONER DRAWING =3 o | DI

1471-9 (3/13)




4

(© 2020 TE Comertivity. AL Rights Reserved. |

110

33

e [

9
£
3

\e%/
y
\\%/
J
7@
Vs
\\
fan

)
\N%/

&
g
8/ \Jj
&

L]

HD.64.STi.C
2-1103032-3
10A 250V 4KV 3

® 0 @

—=

= UE

M4 SCREW RECOMMENDED
TIGHTENING TORQUE | .2Nm
MARL  #aga% ] . 2Nm

4X M3 SCREW
RECOMMENDED TIGHTENING TORQUE 0.5Nm
4X M3 8%, #54%0%£0 . SNm

21

7]
€l
ZL
b
01,
6
9
L
9
S
7
€
z
L

L
=
|
[
F

%
)
N\
g

A
AV
fal
\V
Yai
J
1
\N

7
§
@
§
Va

YV

fan\
\\%
Fany
A\
7

\Ni

m
\\p)

@D

RN
N>AYY
1Y\

Il
LE
W

91,
1|
71
€l
Z|

g
o

M3 THREAD HOLE

20

21
36

PANFL CUT FOR INSFRTS FOR USF
WITHOUT HOOD HOUS ING
TR B 4P o e 6 ¢ e S TR

19

|

i

35

REVISIONS

DESCRIPTION

DATE DN | APVD

C ECR-20-005011

06APR2020 | QY JB

ECR-20-007704

03JUN2020 | QY JB

D1 ECR-20-016724

25N0v2020 | QY JB

NOTES :

I. TECHNICAL CHARACTERISTICS:
INSULATION MATERIAL: PC
RATED VOLTAGE: 250V
RATED CURRENT: [0A
INSULATION RESISTANCE:
RATED IMPULSE VOLTAGE:
POLLUTION DEGREE: 3
MATING CYCLES: 500 CYCLES
TEMPERATURE RANGE: -40~+125°C
WIRE RANGE: 0. 14mm2~2.5mm?2

2.CONTACT NEED TO BE ORDERED SEPARATELY.

>=400MOY
4KV

AR

I, #AsH
#gith . PC
WERE: 250V
wrkA: | 0A
gl >=400M0)
BARE: 4KV
GREE: 3
w500 %
BARE: -40~+125°C

#EE: 0. | 4mm2~2. 5mm2 (AWG26-AWG | 4)

2. HIRELMITM.

(AWG26-AWG | 4)

2-1103032-3

HD-064 MALE

HD’64’S+"C‘HD—064 M, £x#E(HTS)

INSERT FOR STAMPED CONTACT TYPE

PART NUMBER
# 5

PART DESCRIPTION
# #

THIS DRAWING 1S A CONTROLLED DOCUMENT. |°"

NG YU %ﬁJAN?OZO
8§JAN2020

1

=TE

DIMENS [ONS,
mm

4
il

E 2 PLC +-

3 PLC +-

il

c
A

HKC
JﬁN BREDO!

TE Connectivity

PV 08 JAN2020 |[nane
MARC [N KOMAR
PRODUCT SPEC
108-74002

APPLICATION SPEC

HD.64.5ti.C

CAGE CODE | DRAWING O

+ 114-74000 S

WATER [AL

NGIE
FINISH

A

00779(C=1103032

RESTRICTED 10

CUSTOMER DRAWING

|5CAL[

3.2

‘sugsr

| <7F1 ‘REVD1

1471-9 (3/13)



